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Question Number : 1 Question Id : 3354728331 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

In which field was the Nobel Prize awarded to Har Gobind Khorana in 19687 | 1968 o g midg go-T & [ &3
H ATl Qe o GERTIT T T 17

Options:

1. # Physics | ¥ifd® B9

2. ¥ Physiclogy or Medicine | Tra=M=T a7 ARS A
3. % Chemistry | T4 fda

4. % Pharmacology | WIHIEeTT

Question Number : 2 Question Id : 3354728332 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

MName the sanctuary in Orissa that has a water spread of approximately 900 sq. km and which is famous for
mang.r species of migratory birds. | & # 39 SRR F1 A S0 FaH AT 900 =77 T &7 J67 BT ¢ o =
HT T Tt o T oiEeg 2

Options:

1. # Ghana | @M1

2. ¥ Chilika | e

3. % Balukhand | 9 9s
4. % EBaisipalli | s¥UwsT

Question Number : 3 Question Id : 3354728333 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
_________ 15 the oldest science museurn in India, which was established under the asgis of C5IR. |

AR T Helll QAT T ST 5, T SITasiTEsr o doateren= H ST = 1= 2m
Options:
1. % Visvesvaraya Industrial and Technological Museurn, Bangalore | Toreraiar sitenfie ue i sugreg,

2. % National Museumn of Natural History, New Delhi | T W@ STdgr G0, A8 [Seol
=, % Eirla Industrial and Technological Museurn, Kolkata | EEdT =ity o menimd T Gugia, S ieweT

4 % National Museurn of India, Mew Delhi | T8 qOdTicas GUgTea, T8 fewa

Question Number : 4 Question Id : 3354728334 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

What trade would you associate the town of Palanpur in Gujarat with? | T # UeHYE o A5 BT 70 o e &
kg HIT?

Options:

1. ¥ Carpet weaving | & g5

2. % Cerarnic ware | =T ST oA

=, ¥ Diamond trading and polishing | SR =MW &7 oTiw 6

4 % alurminurn ware | UegH -2 0T (=)

Question Number : 5 Question Id : 3354728335 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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“World Population Day’ is celebratedon _____________ of every year. | Taver Sea feae, vad® of
F AT AT

Options:

1. % 11th July | 11 &8
2. % Z0th July | 20 JAB
3. % Z5th July | 25 @B
4 % Sth July | 5 AT

Question Number : 6 Question Id : 3354728336 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The Constituent Assembly (elected for an undivided India) met for the first time on_______ | Tl 9T (T
g & o THaime) ugat a7

Options:

1. % 14 August 1947 | 14 s 1947
2. ¥ 6 Decernber 1946 | 6 ﬁﬂ'ﬂfsl? 194G
3. % 3 June 1947 | 354 1947

4. % 15 November 1939 | 15 Adat 1939

Note: For thisquestion, discrepancy isfound in question/answer. So,this question isignored for all candidates.

Question Number : 7 Question Id : 3354728337 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
which Indian boxer recently had a dual victory in the WED Asia Pacific Suger Middlewsight and WED Oriental

Super Middleweight titles? | T WA Gfar = 517 51 H Sew atalt TR iz ot Seretalt sifdea
que TRiZwaT RaaTer ® SIger Sia griee o 477 o k
Options:

1. ® Mary Kom | AT ®H

2. % Shiva Thapa | Tém&r amr

= # Gaurav Bhandari | TRa =T
4, ¥ Vijender Singh | ey g

Question Number : 8 Question Id : 3354728338 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

which one of the following international football events was held in India in 20177 | 2017 # 9T # afeET
AP Feata A1 | & I AT AT T T a7

Options:

1.p # Asian Football Confederation Cup | TSRS Feale ®-hata= &1
2. ® COMNCACAF Gold Cup | SRIT-HUEIE Tes &7

= % FIFA World Cup | BT e a0

4. % FIFA Under 17 World Cup | $I%T 32T 17 e &0

Question Number : 9 Question Id : 3354728339 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Narme the first Indian Institute of Technology which was formally inaugurated in the year 1951: | Eel 9
W T T T ATH Sq 0 et 1951 H sfiuziivs &0 & Jgie- gar

Options:
1. % [IT Kanpur | ATEATECT FTC
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2. % [IT Madras | ATEEar AgM
3. % 1T Delhi | smeamiet fewet
4 ¥ 11T Kharagpur | SETEEl G2

Question Number : 10 Question Id : 3354728340 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
The Yarlung Zangho river, in India, is knowrn as: | YRT H, T o601 Fo), FedE! o

Options:

1. % Ganga | T

2. ¥ Brahmaputra | F§[IF
3. % Yarmna | gAr

4 % Saraswati | AEEIdT

Question Number : 11 Question Id : 3354728341 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

According to the Census 2011, which district has the lowest literacy rate in Madhya Pradesh? | @ 2011 @&
SARITOTT & ST, Tear Uasr 3 o Pt § aTemar &1 8 dad 70 87

Options:
1. # Jhabhua | T

2. ¥ alirajpur | STHERFT
% % Barwani | @=amT

4 % Sheopur | TR

Question Number : 12 Question Id : 3354728342 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Indian Railways has g‘_lven a contract to Bansal Group to manage which railway station in Madhya Pradesh? |

WA 17 {0« He W o Ty ¥ofel Taa o7 Wareld =T o ol st [ o &7 ek STered foraT 2
Options:

1. # MNepanagar | ST

2. % Satna | 94T

= ¥ Habibganj | gaiana

4 % Ratlam | TdaH

Question Number : 13 Question Id : 3354728343 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The idol of Lord Hanuman in Girwar village of Shajapur belongs to the

T AT W e _____ LEAK

Options:

1. ¥ Sth | St
2 % g8th | gdf
3 % 12th | 124df
4. % 16th | 165f

century. | AFYE #F e ma §

Question Number : 14 Question Id : 3354728344 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Correct: 1 Wrong: 0
Wwhat is the name of the sari that is most famous in Khargone district? | @ el § Ga8 Withg J18 1 &7 910 F247 57

Options:
1. % Chanderi | @2t
2. ¥ Maheshwari | Wesail

3. ® Banarasi | aAWdr
4 % 1lkal | Seldd

Question Number : 15 Question Id : 3354728345 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

MNarme the capital of Madhya Bharat from 1948 to 1956 during surnmers: | T & SR 1948 § 1956 9%
e AT & T 7 AT Ja T

Options:
1. ® Bhopal | 9

2. % Jabalpur | S&EgY
3. ® Gwalior | TEeaT
4 ¥ Indore | 22T

Question Number : 16 Question Id : 3354728346 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The Jatashankar temple in Dameh is dedicated to ______ .| THE o AT AieT ______ I TS 21

Options:

1. % Mahadev Ji | AgRa =

2. % Hanurman Ji | gga =il

3. % Vishnu Ji | Tewoy =it

4 # Ramchandra Ji | 7T AT

Question Number : 17 Question Id : 3354728347 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The Indore Municipal Corporation (MC) was established in the yvear_____ A o | 2T A e (aETEEh
T AT e 2

Options:
1. ®¥ 1962

2 % 1958
3. ¥ 1958
4, % 1951

Question Number : 18 Question Id : 3354728348 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

When was the Madhya Pradesh State Forest Development Board established? | Feng s Ty o @ =12 &
T Tt T 4177

Options:

1.9 24 July 1975 | 24@?11?19?5
2 % E July 1981 | 5@?!‘@1‘381

2. % 20 July 1979 | 20 GJFI‘I? 19749
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4. % 10 August 1955 [ 10 a7eq 1955

Question Number : 19 Question Id : 3354728349 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Wwho is the 24th Governor of Reserve Bank of India? | ¥Rd 1 Tead & & 24 o Ta-¢ #4957

Options:

1. % Urjit Patel | IFd wed

2 % D Subbarao | 2 GeawTa

3. % Raghuram Rajan | T T
4. % EBimal Jalan | &9 T@m=

Question Number : 20 Question Id : 3354728350 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which city was known as “Avantika’ in ancient times? | TR T J B A7 450 DG @T & T8 & 47 F1a7 477
Options:

1. % Ujjain | =

2. ® Gwalior | @@

3. % Jhansi | =€

4, % Ehopal | AT

eneral Maths and General Aptitude

Section Id : 335472279

Section Number : 2

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section I1d: 335472279
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 3354728351 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
If the radius of a circle is increased s that its circurmnference increases by 5%, then the area increases by what

percentage? | o o ol AT 56 UL @54 [ & 107 6T O § 5% &1 Jikg 5191 51 94 &3%d H TFa- nidaaar &1 gig a1 57
Options:

1. % 5%
2. % 10%
3. ¥ 10.25%
4. % 20%
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Question Number : 22 Question Id : 3354728352 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

& store marks the price of shirts by 60%. They sell a third at this price and a third at a discount of 20% on the
marked price and the remaining third at a discount of 50% on the marked price. What percentage will be the
overall profit or 10557 | U# g#Td ﬁfﬁmﬁmgﬁo% 21ferd fFam Segia B EARC W 5F T d O 79T a3
- TETE AT SifarT U T8 200 31 7T T 1o T U S it a6 Tl SeEt St Hrer T 50% T 7E TR T el AT
T ZT & Wit oar giir?

Options:
3329 profit /33 % e

2229 profit / 222 % oTe

2% 20% profit | 20% ATT

4. % 20%loss | 20 % FT
Note: For this question, discrepancy isfound in question/answer. So,this question isignored for all candidates.

Question Number : 23 Question Id : 3354728353 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

4536

TOAdH Tar

40808 b

in the lowest terms (simplest form or reduced form) is: / ™=

#_ # (WA T AT oG FA)

& 4536
The fraction
40208

Options:

VT

12
132

Question Number : 24 Question Id : 3354728354 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
4i5 =7

Options:
1. % 9/5

2. ® 59
2. ¥ 08
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4. % 05

Question Number : 25 Question Id : 3354728355 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
1003 00967 x 1000 x 967 x 10x 967="

Options:
| % (96.7)°

o % 967

9673
3 ¥

967 x 10

Question Number : 26 Question Id : 3354728356 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The value of (64)= is: / (64)% & & &

Options:

z %3
4 % 4

Question Number : 27 Question Id : 3354728357 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The ratio of the area of a square to that of the square drawn on its diagonal is: | T =1 & &=t BT SUT JEF
Termot we Wieh Ty = & g g

Options:
1.% 21
2 ¥ 1.2
3% 14
4 % 1:1

Note: For thisquestion, discrepancy isfound in question/answer . So,this question isignored for all candidates.

Question Number : 28 Question Id : 3354728358 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
P(x) =x* — 2x + 3 p(1) =7
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Options:
1.%1
= 2
3% -z
4 % -1
Note: For thisquestion, discrepancy isfound in question/answer. So,this question isignored for all candidates.

Question Number : 29 Question Id : 3354728359 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
what is the square of (0.013)7 | (0.013) T a7 #4717

Options:

1. % 000169
2. % 00000165
3. ¥ 0000169
4 % 001649

Question Number : 30 Question Id : 3354728360 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Find the average. | #Ha A #4

44 57,41, 28, 30
Options:
1.9 40
2. % 41
3% 42
4 % 43

Question Number : 31 Question Id : 3354728361 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

A man completes a certain journey in & hours. He covers half the distance at 60 km/fh and the remaining half
at 90 krn/h. What is the distance travelled? | Uer $Het ol = AT A7 6 Tl § quf 1 g1 I6 aimeft 3o &7 60
Tepe Ty EIeT &7 S aTeft g Rt 90 Tty e # ot femem a9 ot g i T R?

Options:

1. % 360 km | 360 fFAT
2. % 400 km | 400 T
3. % 450 km | 450 AT

4 ¥ 432 km | 432 T

Question Number : 32 Question Id : 3354728362 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

I‘#’r cousin is twice my age. If the difference between our ages is 20 vears, then what is my age? | AT T=RT 4G
ST T T ] aﬁ:sm%r ST o Wedy 20 o &1 ST g, oOf HeT 370 w7 g7

Options:

1. %19

2. ¥ 20
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3% z1
4 ® 22

Question Number : 33 Question Id : 3354728363 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

A& can finish a job in 16 days and E in 20 days. If both work together for 4 days and & suddenly leaves, then
how many more davs does B need to complete the job? [ 4 UF & @1 16 AT H 7T E 20 At 6 q0f 3¢ &3 81 21
AT e 4 Tt & oy ol 9 2, O s A 912 ST 8 99 %19 @1 g0l @ o Toid B 1 o Topa arférar fam

3‘ :

Options:

1. % 12days [ 1279

2 % odays | 92

3¢ 1ldays | 1179

4 % 10days [ 10 T&F

Question Number : 34 Question Id : 3354728364 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

48 men can dig a trench in 20 days. How rmany men can dig it in 15 days? | 48 J&9 UF @15 ®f 20 g4 § @iy dad
A 15 ﬁﬁﬁ%ﬂﬁgﬁw@aﬂaﬁ

Options:
1. % 55
2. % G0
2. % 50
4 ¥ 54

Question Number : 35 Question Id : 3354728365 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

The average age of a husband and his wife at the tirme of their marriage was 25 vears. After 7 years, the
average age of the husband, wife and his son is 22 years. What is the age of the son at that time? | & T
T Ui 37 Uail 30 o710 o1 24 a offl 7 a9l @ Wad uid, Ul oI 2 &1 o o1 22 a4 21 59 904 T & 7247 an‘«g%?

Options:
1. %5
2. % 4
=% 3
4 ¥ 2
Note: For this question, discrepancy isfound in question/answer. So,this question isignored for all candidates.

Question Number : 36 Question Id : 3354728366 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The proportion of zine and copper in a brass piece is 4:5, respectively. How rruch zine will be there in 180 kg
of such a piece? | WIad 1 U Fid ¥ a1 Ud d1al F1 AT FAT 4:5 81 56T U™ &7 180 ReuT &t ow Fid § w1 & am=r
T BT

Options:

1. % 40 kg | 40 Ty
2. ¥ 80 kg | 80 fFT
% 10kg | 10 fFmy
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4, % 120 kg | 120 T

Question Number : 37 Question Id : 3354728367 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The srmallest number which must be subtracted from 8934 to make it a perfect square is: | 95 Ta9 BT &7
AT Y, R 8934 § TR ST ANy, T A U qof et 5 S

Options:
1. % 94
= % 98
3. ¥ 98
4 % 100

Question Number : 38 Question Id : 3354728368 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
If x/5 and /15 are equivalent, then value of x is___ | Fg x/5 R 9] 15 G0 &, T x FTAM _____ B

Options:
1.¥3
2. % 27
3. % 20
4 %5

Question Number : 39 Question Id : 3354728369 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Which of the following is CORRECT. if x2=42247 | g x2=4224 §, o Feaif@a # &

i el &7

Options:

64<x<65
1.9

210=<x<215

24=x<25

Question Number : 40 Question Id : 3354728370 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
The greatest 4-digit number which is a perfect square is___. | Tl 4-afdi= &, S e quiani g, _____ &l

Options:
1. % 9999
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2. % 9909

3. 9 9301

4. % 9031

CGeneral Hindi

Section Id : 335472280
Section Number : 3
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questionsto be attempted: 20
Section Marks: 20
Display Number Panel: Yes
Group All Questions: No

Sub-Section Number: 1
Sub-Section 1d: 335472280
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 3354728371 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
T MR W eg UZ 8l

Options:
1. % 7w
o % gt
3 % 9
4 ¥ o=

Question Number : 42 Question Id : 3354728372 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
TOHH TeE A51 5-
Options:

1. % o

2 % oof

3 % g

4 & B

Question Number : 43 Question Id : 3354728373 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Tareft areg e 8-
Options:
1. % @
2 ® o
3 v T
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4. % FHT

Question Number : 44 Question Id : 3354728374 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

T o T T T @ et T B
Options:

1. % sy

2 ¥ THTAT

2 ® Tt

4 % ZHHT

Question Number : 45 Question Id : 3354728375 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
FE-T geg TR B-
Options:

1. & qaeF g

2. % gaig aeg

2 ® T3 seg

4. & g e

Question Number : 46 Question Id : 3354728376 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
TR W U g H W A g?

Options:

1. % gmftar
o % gt
3.V g
4 % g%

Question Number : 47 Question Id : 3354728377 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

gt & wr ¥ ¥ T e PE A a e
Options:

1. % guEt

2. T

3. % foear

4. % qoe

Question Number : 48 Question Id : 3354728378 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

T FT A g e H S FT AT E?
Options:

1. ® ftam

2 % f+ad
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2% g4
4 ¥ Ttae

Question Number : 49 Question Id : 3354728379 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
T W AW eg FEH I AT E?

Options:

1. % HEeAdar
2. ¥ awa
3. ® e
4. % e

Question Number : 50 Question Id : 3354728380 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

o It & 7T geg B d A AT T
Options:

1. ¥ gur

2 % T

3. % T

4 % fm

Question Number : 51 Question Id : 3354728381 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
ERNEAA e, H - H & @1 91 90 27

Options:

1. ¥ Foqey 9ag
2 % Tor e

3. ¥ FHUTT aAE

4. % qgeiity qarg

Question Number : 52 Question Id : 3354728382 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

‘T AT Gerat T o T A g w ar gy
Options:

1. % o7 & FAET AT

2 ¥ I AT

3. % o gk HAT

4 % T B GATFIEAT

Question Number : 53 Question Id : 3354728383 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
TT FT G T FHHE ET AR
Options:
1. % Jgq
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o R E"Eﬁ?l'

S.wfeagr
4. % FTEd

Question Number : 54 Question Id : 3354728384 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

T BTG HI Tl o T (0 JERT w0
AT 5l oS¢ § HGT g8l qHT =
T ORI H Mg H @ AT By

Options:

1. v e

= % T
3. % Aaeaea T
4, ® HEE

Question Number : 55 Question Id : 3354728385 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

1 o =TT ot 3 1 S AT
H I A7 w51 Fal el giau?

Options:

1. % 47 aEEe
2. % JUAT STFAET
3. % wOF AAFN
4. o qAF STFFW

Question Number : 56 Question Id : 3354728386 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

T T TSt o BHAT WET F ATe Uit w1 i - e, 'Y g A
Options:

1. % =fic, ik, 3, g

2 % gree, frdm, O, armer=

3 % amE, Td, bt SIeEET

4. R P, gha W

Question Number : 57 Question Id : 3354728387 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

Tour T gETad @ wRl ard giag - gfd st war
Options:

1. % 7 OeeT T

2. T FATE WAT

3 % FEfdargEr

4 % g7t i Fog e g

Question Number : 58 Question Id : 3354728388 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Correct: 1 Wrong: 0

TG ST W 5, SRl 5 4

¥ T e o, W T Haa ]
P EATt R e

Options:

1. % Tiifder
2. % ot
3. ¥ IedTer
4. ® T

Question Number : 59 Question Id : 3354728389 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Tafeme ! g FafeiET § § frg fowa $1 seemEet g -
Options:

1. ® Sig-Taam

2 o v

3. % oftfde - amer

4. % [

Question Number : 60 Question Id : 3354728390 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

“TFATATS T | & ToreT T &7 321500 27
Options:
1. ¢ s gumT
2. ® JqgET gHE
3 ® YN U
4 % gz aAE
Fural Econorry and Panchavati Eaj
Section Id : 335472281
Section Number : 4
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions; 20
Number of Questionsto be attempted: 20
Section Marks: 20
Display Number Panel: Yes
Group All Questions: No
Sub-Section Number: 1
Sub-Section Id: 335472281
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 3354728391 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Correct: 1 Wrong: 0

Who among the following has the power to name a local road in a village? |77 # & o U Mg & w1 95@ @7
ATH T & STEET 57

Options:

1. ® PWD Departrment | Sigeegat T
2. % District Panchavat | 1 /=T

% % Janpad Fanchayat | F= 0 0=
4. ¢ Gram Panchavat | 70 =T

Question Number : 62 Question Id : 3354728392 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

which among the following districts of MP is the highest producer of potato? | Hesr T & fare Fel ff gaiider o
T JeaTe- §1aT 27

Options:

1. % Chindwara | Team=T
2. % Anupur | S

3. % Guna | T

4. % Datia | gidar

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for all candidates.

Question Number : 63 Question Id : 3354728393 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Eeneficiaries of Mukhya Mantri Bhavantar Bhugtan Yojana are: | JEIAaT AETEE GE AT & A 75 &

Options:

1. ® Industrialists | FermoiE
2 % Teachers | T&uw

=, ¥ Farmers | o

4 % Stndents | 19

Question Number : 64 Question Id : 3354728394 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

In which city is Reserve Bank of India - College of Agricultural Banking located? | T sig7 # et & T g7 -
e STh T et o [T (e2d 57

Options:

1. % Delhi | Tawar
= ® Kolkata | wie®EEr

3. ¥ Pune | qUr
4. % Bangalore | ZAR

Question Number : 65 Question Id : 3354728395 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

In which year was the pilot phase of Pradhan Mantri Adarsh Gram Yojana launched? | WeTaa=T st I Fi=Er
T WA e =/oT T e gp& T ey

Options:
1. % 2000

2. % 2005
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3.9 2010
4 % 2015

Question Number : 66 Question Id : 3354728396 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

On which website can farmers get information on agricultural produce prices? | Tora g dedmEe & i Ioual &
He ol © el 8T ST WTH & T 57

Options:
1. ¥ FEDMARKMET

2. ¥ AGMARKINET
3. ¥ COMMOCDITIESMNET
4. % AGPFRODMNET

Question Number : 67 Question Id : 3354728397 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The erstwhile Kutir Jyoti scheme was associated with: | O& Fed! sartd T-T 99 & Hareg off

Options:
1. ® Promoting cottage industry in villages | Tat § FE0 20T & =g 1a7 47
2 # Promoting employment among rural unemployed youth | T ST Famat @ W0 TR @1 a5 &7

=, ¥ Providing electricity to rural farmilies living below the poverty line | TRIET &7 & A= SAia= A0 e aTe TTHm
Uit @ &l Iueeel FAT

4. % Providing housing to poor families | TR OaRT & &0 STam w2 &e-T

Question Number : 68 Question Id : 3354728398 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Agriculture, including allied sectors, accountad for ________ ErCentage of the GDF in 2014-15 {at constant

price 2011-12). | Heg 851 957 8, 2014-15 #SASnf (o) 2011-12 W & Aidard AT

Options:

1. % 240
=z ¥ 174
3% 117

4. % 103

Question Number : 69 Question Id : 3354728399 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

A& policy of support prices for food-grains came to be adopted throughout India in_____ .| |y W T e
Tt & g Hifd Jd g aRa o T AT

Options:
1. % 1944

2. % 19586
2. ¥ 19684
4. % 1972

Question Number : 70 Question Id : 3354728400 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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AS per the Constitutional Provision, how will the chairperson of the Zilla Parishad be elected? | Seemi=eE T
o SIgET AT OiEe, 9 S1eTy & I F R ITY

Options:

1. ¥ Directly | weaw

2. ¥ Indirectly | SWcay

3. % Ais decided by the State Legislature | ¥=2 e A=d gwr e

4, % Through Co-operation | T & ATEAA T

Question Number : 71 Question Id : 3354728401 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
In which vear did the Pradhan Mantri Grarm Sadak scherne start? | T o # ==t 70 G2 FH1 AR 75 2417

Options:

1. % 1999
= ¥ 2000
3. % 2005
4. % 1991

Question Number : 72 Question Id : 3354728402 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
What is the objective of ‘Kamadhenu Yojana’ in Madhya Pradesh? | @e@ near #§ "FHe TAT F1 FAT 54 27

Options:

1. # Breeding of cows | Tt &7 W=

2. ¥ Development of cowsheds | TiamaTT &7 THwme

% % Increasing milk production | TH W IS ST

4. % Medical treatment of cows | T &7 =IiFcd 9 IU=E

Question Number : 73 Question Id : 3354728403 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

which arnong f?:lllomng states does NOT cultivate wheat? | FEATARET | & T T # 1 1 St 951 7 61 57
Options:

1. % Madhya Pradesh | Hea 0

2. % Maharashtra | AERTE

3. % Tarnil Madu | @ fIFfIFlg

4 % Karnataka | ®icH

Question Number : 74 Question Id : 3354728404 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Holding of elections to Panchayat is decided by: | == & gTd F0= &7 vl g grT o= Jwr &

Options:
1. ¥ Election Corrrission of India | T #T [T SR
2. ® District Collector | FaaTetar

3. % State Government | 1= GTEN

4. % Governor of the state | T TR T T=UTA
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Question Number : 75 Question Id : 3354728405 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
What is the main objective of ‘Bharatet'? | “IRd ¢ &7 747 §&J 537 &7

Options:

1. ® Providing fishing nets to fishermen of tribal areas | aiGaTEr g7 & AgeRl T AT T & AT g FeAT
2. % Selling plastic nets by this brand name | 9 #1E 7 § TATEE 61 AT =1

% % Networking of highways of the country | 237 % TFHTT &1 SediT

4. % Provide broadband connectivity to Gram Panchavats | TTH U=Hd] @1 #1868 @ Ag = Bl

Question Number : 76 Question Id : 3354728406 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Sansad Adarsh Grarn Yojana was launchad by the Prime Minister in 2014 ¢n the birth anniversary of

_________ 7] 2014 WA G/ _________ % SRIGA O HEE g O AT S @ o
Options:

1. % Deen Davyal Upadaya | S-gaTd JUTEH

2 % Shyama Prasad Mukherjee | S2THT WETg T@=i

2. ¥ Javaprakash Marayan | TS TR

4. % sardar Vallabai Patel | SR deedHTE 0o

Question Number : 77 Question Id : 3354728407 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The Mahatma Gandhi State [nstitute of Rural Development & Panchayati Raj is located _____ .| = AETeHT e e
SEC IS T © Sa@uHe U TTd | T ( Hg el T T=ar Ureior e S U v O ______ pRT=inE
Options:

1. ¥ Bhopal | AT

2. ¥ Jabalpur | S&EagL
3. % Sagar | 9T
4 % Sidhi | |yt

Question Number : 78 Question Id : 3354728408 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

Wwhat is the percentage of seats reserved for OBECS in Panchavats in Madhvya Pradesh? | 727 0 # vamral # e
Tige ant & T Tpar widerT 91 ameidT 27

Options:

1. % 10%
e ® 20%
3. ¥ 25%
4 % 33%

Question Number : 79 Question Id : 3354728409 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
In which of the following circumstances is additional 10% of the wages given to workers under MGNREGS 7

TrafmET # & ey uiveatd ® g & aaria 10 nide sridfer uriedte = =T &7
Options:
1. ® If working hard | FaRX OAEH W
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2. ¥ When worksite is more than 5 kms away from residence | e e @ 5 THT T FH Fa1 5
3. % If the prograrmme officer feels | =i FriwH TewNT Agd FaT 5
4 % If the worker comes early for work | 912 HTATR #H W 90T 4 d oTaT 5

Question Number : 80 Question Id : 3354728410 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
What should be the minirmrm age for contesting in Panchayat election? | T=ad g1 Ae- & 6 ~JAaq A7 =it

BT ARy

Options:

1. % 18

2 % 18

3% 21

4 % 32

Cormputer Knowledge

Section Id : 335472282
Section Number : 5
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questionsto be attempted: 20
Section Marks: 20
Display Number Panel: Yes
Group All Questions: No

Sub-Section Number: 1
Sub-Section 1d: 335472282
Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 3354728411 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
HTML is used to create a: | HTML &7 Juii 40 3 faf & & o T 2

Options:

1. % ‘Web server | oF Tov

2. % word docurment | 92 STgHe
3. ¥ Web page | 99 U

4. % Database | STeTe

Question Number : 82 Question Id : 3354728412 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The mechanism to protect private networks from outside attack is called_________ .| UTET ST ad @ aTEe FHA |
T ST epaTiarer ______ FEATAT 5l
Options:

1. ® antivirus | TrETEE

9th Dec17 Shift 2



9th Decl17 Shift 2

2. ¥ Firevmall | Biawdid
= % Search Engine | &= 54
4. % Cyber crime | ATgaY #EH

Question Number : 83 Question Id : 3354728413 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

How can you print three copies of a worksheet? | o0 UF qdhg® @1 a1 Wiaal ®1 34 e 3% ad 27

Options:

1. ® Click Print from the menu and Select the print pages from 1 to 3 | B9 iz o o w¢ &t 1 9§ 3 73 e i
2. ¥ Click Print from the menu and type 3 in the Nurnber of copies text box. | #+ & e 0t e #¢ siT nid=t #1
HEAT ATel S A 1d | 3 TR0 HE

% % Press Ctrl+P+3 | Ctrl+FP+3 a0

4 % all of the above | IS T

Question Number : 84 Question Id : 3354728414 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which of the following commar;d 15 IMHot avlailable in Print Preview menu in MS Word 20077 | TATE T2 2007 &
T Ty 3L T & & 19 o 1S Ueay TR i 27

Options:

1. % Zoom | 30

2 % Preview | Teag

3. % Page Setup | US HgaM

4. % Paragraph | TRmme

Question Number : 85 Question Id : 3354728415 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The processing of putting data in a storage location is called

Options:

1. ¥ Reading | 02T

2. % Controlling | #iiem

Z. % Hand shaking | 8= i
4. ¥ Writing | g

Question Number : 86 Question Id : 3354728416 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
The number of function keys in the standard kevboard is ______ | qESE Al o thepa oIt T EEAT ______ G

Options:
1. % 10
2 %5
3 0% 11
4 ¥ 12

9th Dec17 Shift 2



9th Dec17 Shift 2

Question Number : 87 Question Id : 3354728417 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
MAC address is bits, | MAC U89 _________ IEEAGE

Options:
1. % 24

> % 36
3. ¥ 48
4. % 42

Question Number : 88 Question Id : 3354728418 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

________ cookies are also knowrn as transient cookies. | ________ Fie BT TIRUT Gkl & A8 & G S AT 51
Options:

1. ® Third-party | 92-11

2 % First-party | Bee-Tl

Z. ¥ Session | HaH

4 % persistent | TEEdT

Question Number : 89 Question Id : 3354728419 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

;r:leeejle_ril_e_n_tel Ilaneeage E%f ﬁeﬂ;%lters eompnsmg along sequence of binar Eé dlgltal ZEros an%d e_ees_ _{bltsj is "
Options:

1. ¢ Machine language | A s

2 % algorithrn | ST

2. % Flow chart | Fall =l

4 % High Level Language | g1 sidd oiee

Question Number : 90 Question Id : 3354728420 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

What is the pie?erial representation of work sheet data in MS Excel? | UHUS Ugrad H gehsiie 227 @1 Famdmes e
FATE?

Options:

1. ¢ Chart { =&

2. % Clipart | e

3. % Wordhrt | g2

4 % all of the above | IR T4

Question Number : 91 Question Id : 3354728421 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The extension for an M3 Word 2007 file is: | TAUT 92 5 & o7 Tgadad FHd gar &
Options:

1. % txt

2. % rtf
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2. ¥ docy
4 % odt

Question Number : 92 Question Id : 3354728422 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
What is the full form of LAN? | LAN %7 fSRqa &7 a1 87

Options:

1. ¥ Low-level Access Network | @l-wae UFad deddr
2. ¥ Local Area Network | @@ TRaT Sedd

3. % Load Adjusting Network | @IS USA€a1 Jead

4. % Lower Area Network | &7 URAT Seder

Question Number : 93 Question Id : 3354728423 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
How many bytes equal to a Gigabyte? | - aEe UF HMEES & & 519 57

Options:

210 bytes / 210 915¢

, % 20 bytes / 220 S13€

230 bytes / 230 93¢

240 bytes / 240 915
4 ®

Question Number : 94 Question Id : 3354728424 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
In Excel, "Ctr 1, Gtr 2, and Qtr 3" is an example of. | TFaa #, "Qtr 1, Qtr 2, Qtr 3" 07 #7 JaE0 8

Options:

1. ® Forrmula | STHAT
2 % Function | Hgad
3. ¢ Series | BT

4 % Syntax | g

Question Number : 95 Question Id : 3354728425 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
which one of the following shortcut keys is used to cut a portion from a document in MS Word 20077 | AT

72 =Tqade 2007  Fame i & wiv &t atéae golt, ST 3 4 et T ot e gt 3 T e BT B
Options:
1. % CTREL +C
2 ¥ CTRL + X
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3. % CTRL + 1N
4 % CTRL+ WV

Question Number : 96 Question Id : 3354728426 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
ASCIis a coding systerm that provides

TaTR et mEe T )
Options:
1.¥ 128

2. % 357
3. % 1024
4. % 2024

Question Number : 97 Question Id : 3354728427 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

To save a word docurment M5 Word 2007 ina SpECifiEd location, you hawve 1o Click and select _______ Opion in
office button. | 92 STPgHT (TATE g2 2007 ) F1 HiEge diraT § @9 @ & o, et g s § _______ T e
ST Epiere AT F T

Options:

1. % Save | &9

= % Save As | 99T
= % Open | UT
4 % Mew | I

Question Number : 98 Question Id : 3354728428 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which shortcut key 15 used o ’aligEn center’ the selected text in M5 Word? | THIT 92 # qelfpd S T O ‘align

center’ F THTHIS Fi & To] T 1T @i &7 Sed AT T g e
Options:

1. % Ctrl+R

2% Ctrl4]

3. % Ctrl+U

4. % Cirl+E

Question Number : 99 Question Id : 3354728429 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
whern we delete any file using delete key only, the file goes to the

ITUIIT W ZHiT Bd &, a9 BIed
Options:

1. # My Computer | AT TIOET

2. ¥ Recycle bin | Froamawa &9

2. ® Downloads | ETEAdAE

4. % MNetwork Neighborhood | Head JeRgs

| el g1 Tt WIEd W S TSeie gt @

Question Number : 100 Question Id : 3354728430 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Correct: 1 Wrong: 0

________ is a tool use to create and format spreadsheets. |
B I ST IR T 8

Options:

1. ¥ Adobe Photoshop C5 | USTd Bzt S

2 % Microsoft Power Point | TE®EIFE ) JdT5e

3. ¥ Microsoft Excel | TTg®EIFe THde

4 % Internet Explorer | 5et-¢ UTHaqART

________ Tuzsiie & [EiT # oI BT @ & ol vy
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